

SOLVE THE EQUATION BY ELIMINATION $2x - 5y = -7$ $-2x + 3y = 1$

SOLVE THE EQUATION BY ELIMINATION $2x - 5y = -7$ $-2x + 3y = 1$

WHEN FACED WITH SYSTEMS OF EQUATIONS INVOLVING MULTIPLE VARIABLES, THE ELIMINATION METHOD IS ONE OF THE MOST EFFECTIVE TECHNIQUES TO FIND SOLUTIONS EFFICIENTLY. IN PARTICULAR, SOLVING THE SYSTEM:

$$\begin{cases} 2x - 5y = -7 \\ -2x + 3y = 1 \end{cases}$$

BY ELIMINATION ALLOWS US TO ELIMINATE ONE VARIABLE TO SOLVE FOR THE OTHER. THIS ARTICLE PROVIDES A COMPREHENSIVE STEP-BY-STEP GUIDE ON HOW TO APPROACH SUCH EQUATIONS SYSTEMATICALLY, ENSURING CLARITY AND EASE OF UNDERSTANDING FOR LEARNERS AT ANY LEVEL.

UNDERSTANDING THE SYSTEM OF EQUATIONS

BEFORE DIVING INTO THE ELIMINATION PROCESS, IT'S ESSENTIAL TO UNDERSTAND WHAT THE SYSTEM OF EQUATIONS REPRESENTS AND HOW THE ELIMINATION METHOD WORKS.

WHAT IS A SYSTEM OF EQUATIONS?

A SYSTEM OF EQUATIONS CONSISTS OF TWO OR MORE EQUATIONS WITH THE SAME SET OF VARIABLES. THE GOAL IS TO FIND THE VALUES OF THESE VARIABLES THAT SATISFY ALL EQUATIONS SIMULTANEOUSLY.

IN THE GIVEN SYSTEM:

- THE FIRST EQUATION IS $2x - 5y = -7$
- THE SECOND EQUATION IS $-2x + 3y = 1$

WHY USE THE ELIMINATION METHOD?

THE ELIMINATION METHOD IS PARTICULARLY USEFUL WHEN ADDING OR SUBTRACTING EQUATIONS CAN ELIMINATE ONE VARIABLE, MAKING IT STRAIGHTFORWARD TO SOLVE FOR THE OTHER. IT IS OFTEN MORE EFFICIENT COMPARED TO SUBSTITUTION, ESPECIALLY WHEN COEFFICIENTS OF A VARIABLE ARE OPPOSITES OR CAN BE EASILY MADE TO CANCEL OUT.

STEP-BY-STEP SOLUTION USING ELIMINATION METHOD

TO SOLVE THE SYSTEM:

$$\begin{cases} 2x - 5y = -7 \\ -2x + 3y = 1 \end{cases}$$

WE FOLLOW THESE STRUCTURED STEPS:

STEP 1: PREPARE THE EQUATIONS FOR ELIMINATION

NOTICE THAT THE COEFFICIENTS OF x ARE 2 AND -2 . THESE ARE ALREADY OPPOSITES, MAKING ELIMINATION OF x STRAIGHTFORWARD.

KEY POINT: WHEN COEFFICIENTS ARE OPPOSITES, SIMPLY ADDING THE TWO EQUATIONS WILL ELIMINATE (x) .

STEP 2: ADD THE EQUATIONS TO ELIMINATE (x)

ADDING THE EQUATIONS:

$$\begin{aligned} & \\ (2x - 5y) + (-2x + 3y) &= -7 + 1 \\ & \end{aligned}$$

SIMPLIFY EACH SIDE:

$$\begin{aligned} & \\ 2x - 5y - 2x + 3y &= -6 \\ & \end{aligned}$$

$$\begin{aligned} & \\ (2x - 2x) + (-5y + 3y) &= -6 \\ & \end{aligned}$$

$$\begin{aligned} & \\ 0x - 2y &= -6 \\ & \end{aligned}$$

WHICH SIMPLIFIES TO:

$$\begin{aligned} & \\ -2y &= -6 \\ & \end{aligned}$$

STEP 3: SOLVE FOR (y)

DIVIDE BOTH SIDES BY (-2) :

$$\begin{aligned} & \\ y = \frac{-6}{-2} &= 3 \\ & \end{aligned}$$

SOLUTION FOR (y) : $(y = 3)$

STEP 4: SUBSTITUTE (y) BACK INTO ONE OF THE ORIGINAL EQUATIONS

NOW THAT WE KNOW $(y = 3)$, SUBSTITUTE INTO EITHER OF THE ORIGINAL EQUATIONS TO SOLVE FOR (x) .

USING THE FIRST EQUATION:

$$\begin{aligned} & \\ 2x - 5(3) &= -7 \\ & \end{aligned}$$

SIMPLIFY:

$$\begin{aligned} & \\ 2x - 15 &= -7 \\ & \end{aligned}$$

ADD 15 TO BOTH SIDES:

$$\begin{aligned} & \{ \\ 2x &= -7 + 15 \\ & \} \\ & \{ \\ 2x &= 8 \\ & \} \end{aligned}$$

DIVIDE BOTH SIDES BY 2:

$$\begin{aligned} & \{ \\ x &= \frac{8}{2} = 4 \\ & \} \end{aligned}$$

SOLUTION FOR (x, y) : $(x = 4, y = 3)$

FINAL SOLUTION AND VERIFICATION

THE SOLUTION TO THE SYSTEM IS:

$$\begin{aligned} & \{ \\ x &= 4, \text{ \texttt{QUAD} } y = 3 \\ & \} \end{aligned}$$

TO VERIFY, SUBSTITUTE THESE VALUES INTO THE SECOND ORIGINAL EQUATION:

$$\begin{aligned} & \{ \\ -2x + 3y &= 1 \\ & \} \end{aligned}$$

SUBSTITUTE $(x = 4)$ AND $(y = 3)$:

$$\begin{aligned} & \{ \\ -2(4) + 3(3) &= -8 + 9 = 1 \\ & \} \end{aligned}$$

SINCE THE LEFT SIDE EQUALS THE RIGHT SIDE, THE SOLUTION IS VERIFIED.

SUMMARY:

- THE SOLUTION TO THE SYSTEM IS $(x, y) = (4, 3)$.
- THE ELIMINATION METHOD EFFICIENTLY LED TO THE SOLUTION BY ELIMINATING (x) THROUGH ADDITION.

ADDITIONAL TIPS FOR SOLVING SYSTEMS BY ELIMINATION

ALIGN COEFFICIENTS FOR EASIER CANCELLATION

SOMETIMES, COEFFICIENTS ARE NOT OPPOSITES. TO MAKE ELIMINATION FEASIBLE, MULTIPLY ONE OR BOTH EQUATIONS BY SUITABLE NUMBERS TO ALIGN COEFFICIENTS.

EXAMPLE:

IF THE EQUATIONS ARE:

$$\begin{cases} 3x + 4y = 7 \\ 5x - 2y = 3 \end{cases}$$

MULTIPLY THE FIRST EQUATION BY 5 AND THE SECOND BY 3:

$$\begin{cases} (3x + 4y) \times 5 \rightarrow 15x + 20y = 35 \\ (5x - 2y) \times 3 \rightarrow 15x - 6y = 9 \end{cases}$$

NOW, SUBTRACT THE SECOND FROM THE FIRST TO ELIMINATE (x) .

CHOOSE THE VARIABLE TO ELIMINATE

SELECT THE VARIABLE WITH THE EASIEST COEFFICIENTS TO ELIMINATE. OFTEN, COEFFICIENTS THAT ARE ALREADY OPPOSITES ARE IDEAL.

CHECK YOUR WORK

ALWAYS VERIFY YOUR SOLUTION BY SUBSTITUTING IT BACK INTO THE ORIGINAL EQUATIONS. THIS STEP CONFIRMS THE CORRECTNESS OF YOUR SOLUTION.

COMMON MISTAKES TO AVOID

- NOT ALIGNING EQUATIONS PROPERLY BEFORE ADDITION OR SUBTRACTION.
- FORGETTING TO MULTIPLY EQUATIONS TO MATCH COEFFICIENTS.
- NEGLECTING TO SIMPLIFY AFTER COMBINING EQUATIONS.
- FORGETTING TO VERIFY THE SOLUTION IN BOTH ORIGINAL EQUATIONS.

CONCLUSION

SOLVING THE SYSTEM OF EQUATIONS:

$$\begin{cases} 2x - 5y = -7 \\ -2x + 3y = 1 \end{cases}$$

BY ELIMINATION IS STRAIGHTFORWARD ONCE YOU RECOGNIZE THE COEFFICIENTS OF (x) ARE OPPOSITES. BY ADDING THE EQUATIONS, YOU ELIMINATE (x) AND CAN SOLVE DIRECTLY FOR (y) . SUBSTITUTING BACK YIELDS THE VALUE OF (x) . THIS METHOD IS EFFICIENT, ESPECIALLY FOR LARGER SYSTEMS OR WHEN COEFFICIENTS ARE CONDUCIVE TO ELIMINATION.

MASTERING THE ELIMINATION METHOD ENHANCES YOUR PROBLEM-SOLVING SKILLS IN ALGEBRA, ENABLING YOU TO APPROACH COMPLEX SYSTEMS CONFIDENTLY AND ACCURATELY. WITH PRACTICE, YOU'LL FIND THAT SOLVING SYSTEMS LIKE THESE BECOMES QUICKER AND MORE INTUITIVE, MAKING YOUR ALGEBRAIC TOOLKIT EVEN MORE POWERFUL.

FREQUENTLY ASKED QUESTIONS

HOW DO I SOLVE THE SYSTEM OF EQUATIONS $2x - 5y = -7$ AND $-2x + 3y = 1$ USING ELIMINATION?

TO SOLVE BY ELIMINATION, FIRST ADD THE TWO EQUATIONS TO ELIMINATE x : $(2x - 5y) + (-2x + 3y) = -7 + 1$. THIS SIMPLIFIES TO $(0x - 2y) = -6$, SO $-2y = -6$, GIVING $y = 3$. SUBSTITUTE $y = 3$ INTO ONE OF THE ORIGINAL EQUATIONS TO FIND x , FOR EXAMPLE $2x - 5(3) = -7$, WHICH SIMPLIFIES TO $2x - 15 = -7$, SO $2x = 8$, RESULTING IN $x = 4$.

WHAT IS THE SOLUTION TO THE SYSTEM OF EQUATIONS $2x - 5y = -7$ AND $-2x + 3y = 1$ USING ELIMINATION METHOD?

THE SOLUTION IS $x = 4$ AND $y = 3$. BY ADDING THE EQUATIONS, WE ELIMINATED x AND FOUND y , THEN SUBSTITUTED BACK TO FIND x .

CAN ELIMINATION BE USED DIRECTLY ON THE EQUATIONS $2x - 5y = -7$ AND $-2x + 3y = 1$? IF SO, HOW?

YES, ELIMINATION CAN BE USED. FIRST, ADD THE TWO EQUATIONS DIRECTLY TO ELIMINATE x : $(2x - 5y) + (-2x + 3y) = -7 + 1$, WHICH SIMPLIFIES TO $-2y = -6$, LEADING TO $y = 3$. THEN SUBSTITUTE $y = 3$ INTO EITHER ORIGINAL EQUATION TO FIND x .

WHY DOES ADDING THE EQUATIONS $2x - 5y = -7$ AND $-2x + 3y = 1$ HELP IN SOLVING FOR THE VARIABLES?

BECAUSE ADDING THE EQUATIONS CANCELS OUT THE x TERMS ($2x + -2x = 0$), ALLOWING US TO SOLVE DIRECTLY FOR y . THIS SIMPLIFIES THE PROCESS AND REDUCES THE SYSTEM TO ONE VARIABLE, MAKING IT EASIER TO FIND THE SOLUTION.

WHAT ARE COMMON MISTAKES TO AVOID WHEN SOLVING THESE EQUATIONS BY ELIMINATION?

COMMON MISTAKES INCLUDE FORGETTING TO CHECK WHETHER THE COEFFICIENTS ALIGN PROPERLY, MIXING SIGNS DURING ADDITION OR SUBTRACTION, AND NOT SUBSTITUTING BACK TO VERIFY THE SOLUTION. ALSO, ENSURE THE EQUATIONS ARE CORRECTLY WRITTEN AND SIMPLIFIED BEFORE PROCEEDING.

IF THE EQUATIONS WERE INCONSISTENT OR DEPENDENT, HOW WOULD THAT AFFECT SOLVING BY ELIMINATION?

IF THE EQUATIONS ARE INCONSISTENT, ELIMINATION WOULD LEAD TO A CONTRADICTION (E.G., $0 = \text{A NON-ZERO NUMBER}$), INDICATING NO SOLUTION. IF DEPENDENT, THE EQUATIONS ARE MULTIPLES OF EACH OTHER, RESULTING IN INFINITELY MANY SOLUTIONS. RECOGNIZING THESE CASES PREVENTS INCORRECT CONCLUSIONS.

ADDITIONAL RESOURCES

SOLVE THE EQUATION BY ELIMINATION $2x - 5y = -7$ AND $-2x + 3y = 1$

UNDERSTANDING HOW TO SOLVE SYSTEMS OF EQUATIONS IS A FUNDAMENTAL SKILL IN ALGEBRA, ESPECIALLY WHEN DEALING WITH MULTIPLE VARIABLES. ONE EFFECTIVE METHOD IS THE ELIMINATION METHOD, WHICH INVOLVES ADDING OR SUBTRACTING EQUATIONS TO ELIMINATE ONE OF THE VARIABLES, MAKING IT EASIER TO SOLVE FOR THE REMAINING VARIABLE. IN THIS ARTICLE, WE WILL EXPLORE HOW TO SOLVE THE SYSTEM OF EQUATIONS:

$$2x - 5y = -7$$

$$-2x + 3y = 1$$

USING THE ELIMINATION METHOD. WE WILL WALK THROUGH EACH STEP IN DETAIL, CLARIFYING KEY CONCEPTS ALONG THE WAY TO ENSURE A COMPREHENSIVE UNDERSTANDING.

UNDERSTANDING THE SYSTEM OF EQUATIONS

BEFORE DIVING INTO THE SOLUTION PROCESS, IT'S CRUCIAL TO UNDERSTAND WHAT A SYSTEM OF EQUATIONS REPRESENTS. IN ESSENCE, IT'S A SET OF TWO OR MORE EQUATIONS WITH MULTIPLE VARIABLES. THE GOAL IS TO FIND THE VALUES OF THESE VARIABLES THAT SATISFY ALL EQUATIONS SIMULTANEOUSLY.

IN OUR CASE, THE SYSTEM CONSISTS OF TWO LINEAR EQUATIONS WITH TWO VARIABLES, X AND Y:

1. $2x - 5y = -7$
2. $-2x + 3y = 1$

GRAPHICALLY, THESE EQUATIONS REPRESENT TWO LINES ON THE XY-PLANE. THE SOLUTION TO THE SYSTEM IS THE POINT(S) WHERE THESE LINES INTERSECT.

NOTE: SINCE THE EQUATIONS ARE LINEAR AND THERE ARE TWO VARIABLES, THE SYSTEM CAN HAVE:

- A UNIQUE SOLUTION (INTERSECTING LINES)
- INFINITELY MANY SOLUTIONS (COINCIDENT LINES)
- NO SOLUTION (PARALLEL LINES)

OUR TASK IS TO DETERMINE WHICH CASE APPLIES AND FIND THE SPECIFIC SOLUTION IF IT EXISTS.

PREPARING FOR THE ELIMINATION METHOD

THE ELIMINATION METHOD HINGES ON MANIPULATING THE EQUATIONS TO ELIMINATE ONE VARIABLE, ALLOWING US TO SOLVE FOR THE OTHER. THE KEY IS TO ALIGN THE COEFFICIENTS OF ONE VARIABLE IN BOTH EQUATIONS SO THAT ADDING OR SUBTRACTING THE EQUATIONS CANCELS OUT THAT VARIABLE.

STEP 1: EXAMINE THE COEFFICIENTS

OUR EQUATIONS ARE:

- $2x - 5y = -7$
- $-2x + 3y = 1$

NOTICE THAT THE COEFFICIENTS OF X ARE 2 AND -2, WHICH ARE OPPOSITES. THIS IS ADVANTAGEOUS BECAUSE ADDING THE TWO EQUATIONS DIRECTLY WILL ELIMINATE X:

$$(2x - 5y) + (-2x + 3y) = -7 + 1$$

THIS PROVIDES A STRAIGHTFORWARD PATH TO ELIMINATION WITHOUT NEEDING TO MULTIPLY EQUATIONS BY CONSTANTS.

STEP 2: ADD THE EQUATIONS

ADDING THE TWO EQUATIONS TERM BY TERM:

$$(2x + -2x) + (-5y + 3y) = -7 + 1$$

SIMPLIFIES TO:

$$0x + (-2y) = -6$$

OR SIMPLY:

$$-2y = -6$$

NOW, THIS IS AN EQUATION WITH ONLY Y, WHICH CAN BE SOLVED EASILY.

SOLVING FOR THE REMAINING VARIABLE

HAVING ELIMINATED X, THE NEXT STEP IS TO FIND Y:

$$-2y = -6$$

DIVIDE BOTH SIDES BY -2:

$$y = (-6) / (-2)$$

$$y = 3$$

THIS VALUE OF Y IS THE SOLUTION FOR THE VARIABLE Y.

SUMMARY SO FAR:

$$- y = 3$$

WITH Y FOUND, THE NEXT STEP IS TO SUBSTITUTE Y BACK INTO ONE OF THE ORIGINAL EQUATIONS TO SOLVE FOR X.

BACK-SUBSTITUTION TO FIND X

CHOOSING ONE OF THE ORIGINAL EQUATIONS MAKES SENSE; TYPICALLY, SELECTING THE SIMPLER ONE IS PREFERABLE. LET'S USE THE FIRST:

$$2x - 5y = -7$$

SUBSTITUTE $y = 3$:

$$2x - 5(3) = -7$$

SIMPLIFY:

$$2x - 15 = -7$$

ADD 15 TO BOTH SIDES:

$$2x = -7 + 15$$

$$2x = 8$$

DIVIDE BOTH SIDES BY 2:

$$x = 8 / 2$$

$$x = 4$$

FINAL SOLUTION:

$$x = 4$$

$$y = 3$$

THIS POINT, $(4, 3)$, IS THE UNIQUE SOLUTION WHERE BOTH LINES INTERSECT, SATISFYING BOTH EQUATIONS SIMULTANEOUSLY.

VERIFYING THE SOLUTION

VERIFICATION IS AN ESSENTIAL STEP TO ENSURE THE SOLUTION IS CORRECT. PLUG THE OBTAINED VALUES BACK INTO THE ORIGINAL EQUATIONS:

EQUATION 1:

$$2(4) - 5(3) = -7$$

$$8 - 15 = -7$$

$$-7 = -7 \quad \square$$

EQUATION 2:

$$-2(4) + 3(3) = 1$$

$$-8 + 9 = 1$$

$$1 = 1 \quad \square$$

SINCE BOTH EQUATIONS ARE SATISFIED, THE SOLUTION $(4, 3)$ IS VALID.

SUMMARY OF THE ELIMINATION METHOD PROCESS

THE SYSTEMATIC APPROACH TO SOLVING THE SYSTEM THROUGH ELIMINATION CAN BE SUMMARIZED AS:

1. IDENTIFY COEFFICIENTS: LOOK FOR COEFFICIENTS THAT ARE OPPOSITES OR CAN BE MADE OPPOSITES BY MULTIPLICATION.
2. ADJUST EQUATIONS IF NECESSARY: MULTIPLY ONE OR BOTH EQUATIONS TO ALIGN COEFFICIENTS.
3. ADD OR SUBTRACT EQUATIONS: ELIMINATE ONE VARIABLE.
4. SOLVE FOR THE REMAINING VARIABLE: SIMPLIFY AND FIND THE VALUE.
5. BACK-SUBSTITUTE: INSERT THE FOUND VALUE INTO AN ORIGINAL EQUATION TO SOLVE FOR THE OTHER VARIABLE.
6. VERIFY: CHECK THE SOLUTION IN BOTH ORIGINAL EQUATIONS.

ADDITIONAL INSIGHTS AND TIPS

- CHOOSE THE EASIEST EQUATION FOR SUBSTITUTION: AFTER FINDING ONE VARIABLE, PLUGGING IT BACK INTO THE SIMPLER EQUATION MINIMIZES ERRORS.
- BE ATTENTIVE TO SIGNS: WHEN ADDING OR SUBTRACTING EQUATIONS, KEEP TRACK OF POSITIVE AND NEGATIVE SIGNS.
- IF COEFFICIENTS AREN'T OPPOSITES: MULTIPLY ONE OR BOTH EQUATIONS BY SUITABLE NUMBERS TO CREATE OPPOSITE COEFFICIENTS.
- VISUALIZE THE SYSTEM: GRAPHING CAN PROVIDE A VISUAL CONFIRMATION OF THE SOLUTION POINT.

CONCLUSION

MASTERING THE ELIMINATION METHOD FOR SOLVING SYSTEMS OF EQUATIONS, SUCH AS $2x - 5y = -7$ AND $-2x + 3y = 1$, EQUIPS STUDENTS AND PROFESSIONALS WITH A POWERFUL ALGEBRAIC TOOL. BY CAREFULLY ALIGNING COEFFICIENTS, ADDING OR SUBTRACTING EQUATIONS TO ELIMINATE VARIABLES, AND THEN SOLVING STEP-BY-STEP, COMPLEX SYSTEMS BECOME MANAGEABLE. THE PROCESS NOT ONLY FOSTERS PROBLEM-SOLVING SKILLS BUT ALSO DEEPENS UNDERSTANDING OF LINEAR RELATIONSHIPS. REMEMBER, ACCURACY IN EACH STEP AND VERIFICATION AT THE END ARE CRITICAL TO ENSURE CORRECT SOLUTIONS. WITH PRACTICE, THIS METHOD BECOMES AN INTUITIVE AND EFFICIENT WAY TO APPROACH SIMILAR SYSTEMS ACROSS MATHEMATICS AND APPLIED SCIENCES.

[Solve The Equation By Elimination 2x 5y 7 2x 3y 1](#)

Solve The Equation By Elimination 2x 5y 7 2x 3y 1

Related Articles

- [How Did The Environment Affect Life For People In The Artic](#)
- [A Food Company Hydrogenated A Barrel Of Fat. The Treatment ...](#)
- [Patient Privacy Is Everyones Responsibility. A\) True B\) False](#)

[Back to Home](#)